¥ X B ¥ WO OB B ¥ O3 OB O
4 5 ik 5 # il # Eo 5 # fiff
7oA Ko Na 6.0221420 % 102 mol-! . F¥aV — (Hgtae) Ci 1Ci=3.7x100gt
(1= RO5FE) A (RIS Gy | 1Gy=1J-kg?=100 rad
= +K-1a o
AfREH R | 8.314472 J-K--mol sr—myEERrs N Clkg | 1C/kg=3.876x10°R
=R
[ carL AT 1.6605387 X107 kg (IREgHRR)
FerEE (FZEH) ¢ | 299792458 m-s? Pt b (REESE) Sv | 1Sv=1]-kg"
Vﬁgkﬁ.ﬁ@[gg e 9 T1828.-+res ~zvn (KB Bg 1Bg=1s1
5 '
. TP 7 I 7N (L) rad | lrad=1X102]+kg'=102Gy
BHER U OBEE | e | W s .
< = v by (HRGTERED R 1R=1esu/cm3{ZES ], HHE
8.85419 X107%(F/m) $KIE) =2.082 X 1094 # + K/
ETOEH e | 4.8032068x 100 esu cm*(# ) =2.58 X107 C-kg!
=1.60217733 X102 C
EFHEL b eV | 1eV=1.60217646%1015] H
1. B f&l
P ER B | 6.6260688%10% J-s “
E 3 H 3 7 B
R k| 1.380650%10°8 J-K
1 . 365. 26 8.766X10° | 5.260x10° | 3.156%10°
38 Tk 2 41410 X 10"m?3~mol ! 2.738X 10 1 24 1.44010° | 8.640x10°
HEAEOREL AR Va | 2R - 1141%10° | 0.04167 1 60 3600 10°
1.901x10° | 6.944x10™| 0.01667 1 60
£t AN T OB 8 3.169x10™ | 1.157x10°%| 2.778x10| 0.01667 1
] =2
2. ITFEAF—HGUICPIEDEAL
kg u MeV kg u I MeV
% F 5.1092819 %103 | 0.0005486 | 0.5110 i 6.022045% 10°° | 8.987522 %10 | 5.609545 10
1.6605387 X 10° 1 1.4924418% 107 | 931.5016
b5 s 1.6726216 X 1027 1.007276 938.278 1.1126 %1077 6.700429 % 10° 1 6241460 % 10"
1.7826759 107 [ 1.0735355 X107 | 1.6021892 X 107" 1
f o F 1.6749272 X 10727 1.008665 939,571

1J=107 erg lcalisc=4.1855] 1W=1]/s




